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Answer of all the questions (short answer as well as descriptive) are to be given in the main answer-book only.
Answers of short answer lype questions must be given in sequential order. Similarly all the parts of one question
of descriptive part should be answered at one place in the answer-book. One complete question should not be
answered at different places in the answer-book.
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Write your roll number on question paper before start writing answers of questions.
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The paper shall have two Parts A and B, Part A will be compulsory having 30 very short answer type questions
(with a limit of 20 words) of one mark each with a total of 30 marks.
Part-B of question paper shall be divided into three Units. There will be one question from each Unit. Question

number 2-4 will have internal choice. Each question will carry 15 marks with a total of 45 marks.
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PART -A/¥TT-A

830x1=30

(1)  What do you understand by P-tapetum and C-tapetum ?
P-¥dten 9 C-2Wen @ 319 7 wwE €2

(i) What is the epigeal germination of seed ?

ey 3 Fufoyfiren Sigw | T A 2
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(1)) What term

g g 1 A e o S § e T w9 e 2
Name a plant where endothecium is 2-layered.
am

(iv) mﬁmwwm%l

g T A

P.T.O.



(v) Namea tetrasporic embryosac in which the arrangement of the nuclei is the same as in

polygonum type.
e w1 T Ay fred FffaaeTd ) famm gteiviem S at £
(vi)  What is cleistogamy ?

A= oo =y 2

(vii) Name a suitable plant which showa the phenomenon of ornithophily.
eY F A fafed sh sifffrel v w1 wefdfa w1
(vii) What term is used to describe a pollen grain which gives out many pollen tubes ?
TR T TR /O R 3t el freet @ €, @ 3@ wfonfar =y @ @ e ?
(ix) Name a plant in which endosperm is watery in nature.

9 F1 AW fofed faed wodrend it =t yefa & d

(x} Give one example each of a seed has -

(a) Aril (b) Caruncle (c) Perisperm
I i
(@ U@ ®) Fiwa () HRopE s

(xi} What is apomixis ?
AETSA T E?
(xii)) What significant changes occur in ovary after anthesis ?
Thee (TAIRNE) ¥ IYaa AvsRE § 1 Aeegel uiad omy §2
(xiii) Which form of phytochrome determines germination of seeds ?
HIREEHIA i HITE FTE & F FHgaw w1 fuifa s &2
(xiv) What are the official method of moisture content determination in seeds ?
et § T A9 1 SAfueRRe ad | &2 https://www.uoronline.com
(xv) How viability of the pollen can be evaluated ?
ROTEH HT Sfaagwa $ fuio fee ywR e s g2
(xvi) Name the basic form of carpel.
MUY & FCTET H AN T |
(xvii) What is operculum ?
e @ €2
(xviii) What is emasculation ?
Tt FE?
(xix) Name a plant in which onagrad type of embryogeny is seen.

3q ey &1 T TaRd forad ST wewR wt yordar 9 S R
(xx) Where are X-bodies found ?
X-#/a FE TR I E ?



(xxi) Name the kind of pollination in vallisncria.
Afermafen A e YR A TOTHN e S # 7
(xxii) What is Anatropous ovule ?
wyFw s R ?
(xxiii) What is storage geed ?
A vero @ ¥ 7
(xxiv) What 18 TTC teat ?
TTC v F0 ¥?

(xxv) What is bacterium culture treatment ?

Sftare] e TR F#0 &2

(xxvi) Why viable and mature of seeds of edible fruits do not germinate inside the fruit ?

T Wl % A T aReE i wa ¥ v g el e e €2

(xxvii)What is inside a seed ?
d9 % Mg ?

(xxviii)Name any one unsaturated fatty acid found in oily seeds ?

@ﬂﬁﬁmmﬂwmﬁiﬁﬂﬁhﬁﬁww%l
(xxix) What is second fertilization ?
fdias FR=A N da 82

(xxx) What is Xenia ?
fafrmr g ?

PART -B/ W -®

UNIT-1/3%% - 1

Attempt one question from each unit. Each question carries equal marks.

mmﬁﬂﬁwmwwlmmmaﬁ%%
Describe briefly the development of male gameto hyte in angiosperm.
oy ‘e gametopay e

AT § R g ¥ T e |

Write short noteaon :

e ¥ feaqoft fafad -

(i) Pollination in Salvia
wifeea ol i fafy

(ii) Post Pollination

-~ Tﬁ N

(iii) Double Fertilization

o faA
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UNIT - 11 /318 - 11

4. What is the role of physical factors like light and temperature in dormancy of the gseeds ?

ISl & gt ¥ WM U AT9EE R yfiae TR

5. Write in details on methods of sced testing.

a9 qiiem ¥ aiel W faga 9a fafad

UNIT - I11 / 18 - 111

6. Write short noteson :
qfara feuoit fafa :
(i) Types of seed storage
FiST WIS &% YR

(ii) Seed certification

ST WHTOHT0

7. Significance of seed quality control in seed industry.
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